
 

1. By using your calculator and the CAST rule, solve the following equations for the angles 
found in the interval 0 ≤ 𝑥 ≤ 360. 

a. sin 𝑥 =
ଷ

ସ
 

b. tan 𝑥 = −
ଷ

ଶ
 

c. 5 cos 𝑥 = −3 
d. cos 2𝑥 = −

ସ

ହ
 

e. (4 sin𝑥 − 3)(3 cos 𝑥 + 2) = 0 
f. 4 sin𝑥 + 1 = 0 
g. cos 𝑥 (3 cos𝑥 + 1) = 0 
h. 2 sin𝑥 − sin𝑥 tan 𝑥 = 0 
i. 3 sinଶ 𝑥 + sin 𝑥 = 0 
j. tanଶ 𝑥 − tan 𝑥 − 6 = 0 
k. 3 cosଶ 𝑥 − 2 cos 𝑥 − 1 = 0 
l. 5 cos 2𝑥 − 3 = 0 
m. √3 cosଶ 2𝑥 + cos 2𝑥 = 0 

2. Using your calculator, the graphs of trig ratios, and the CAST rule, solve the following 
equations for the angles found in the interval 0 ≤ 𝑥 ≤ 2𝜋 

a. cos 𝑥 = 0.5 
b. sin 𝑥 = −0.5 
c. tan 𝑥 = 1 
d. tanଶ 𝑥 = 1 
e. sec 𝑥 = 2 
f. tan 𝑥 − √3 = 0 
g. sin 2𝑥 =

ଵ

√ଶ
 

h. tan 2𝑥 = −1 
i. cos 𝑥 + 2 cos𝑥 sin 𝑥 = 0 
j. (cos 𝑥 + 0.5)(cos 𝑥 − 0.5) = 0 
k. (sin 𝑥 − 1)(tan 𝑥 − 1) = 0 
l. sin 𝑥 (sin 𝑥 + 1) = 0 
m. sin 𝑥 − sin𝑥 tan 𝑥 = 0 
n. 2 sinଶ 𝑥 + sin 𝑥 = 0 
o. cosଶ 𝑥 − 3 sinଶ 𝑥 = 1 
p. sinଶ 𝑥 − sin 𝑥 − 2 = 0 
q. 2 sinଶ 𝑥 + sin 𝑥 = 1 
r. cosଶ 2𝑥 + cos2𝑥 = 0 
s. sin 𝑥 − cos 𝑥 = 0 

t. 2 sin𝑥 cos 𝑥 = cos 𝑥 
u. 2 sin2𝑥 = 1 
v. 2 cosସ 𝑥 − 9 cosଶ 𝑥 + 4 = 0 
w. sec 𝑥 = csc𝑥 


